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1) Find out the most appropriate similar meaning word: mustard are determined largely by seed type, preparation,

LAMENT and ingredients. Commonly paired with meats and

cheeses, mustard is also added to sandwiches,

A) Console hamburgers, com dogs, and hot dogs. It is also used as

B . an ingredient in many dressings, glazes, sauces, soups,
) Complain

and marinades. As a cream or as individual seeds,
C) Condone mustard is used as a condiment in the cuisine of India and
D) Comment Bangladesh, the Mediterranean, northern and
southeastern Europe, Asia, the Americas, and Africa,

making it one of the most popular and widely used spices

. . . and condiments in the world. Mustard is most often used

2) Choose the most appropriate similar meaning word: atthe table as a condiment on cold meats. It is also used
MOVING as an ingredient in mayonnaise, vinaigrette, marinades,
and barbecue sauce. It is also a popular accompaniment

A) Inspirational to hot dogs, pretzels, and bratwurst. In the Netherlands

B) Unaffecting and northern Belgium, it is commonly used to make

C) Stati mustard soup, which includes mustard, cream, parsley,

)y |0n§ry garlic, and pieces of salted bacon. Mustard as an

D) Immobile emulsifier can stabilize a mixture of two or more
immiscible liquids, such as oil and water. Added to
Hollandaise sauce, mustard can inhibit curdling. The

3) Select the correct form of verb from the given options. amounts of various nutrients in mustard seed are to be

My mother 40 years old next Friday. found in the USDA National Nutrient Database. As a
condiment, mustard averages about 5 kcal per teaspoon.
Some of the many vitamins and nutrients found in mustard

A) must be seeds are selenium and omega 3 fatty acid.

B) shall be 5) The colour of Mustard paste or sauce ranges from

C) will be

D) would be

A) bright yellow to dark brown

B) light yellow to light brown

C) blackish brown to mustard yellow
)

4) Select the correct Option. D) mustard ye"OW to ||ght brown

You are promising girl for the debate
A) a 6) Which of the following minerals is found in Mustard?
B) an .
C) no article A) lodine
D) the B) Potassium
C) Fluoride
Read the passage and answer the questions that follow: D) Selenium
Mustard is a condiment made from the seeds of a mustard
plant. The whole, ground, cracked, or bruised mustard 7) Mustard as an emulsifier can stabilize which of the
seeds are mixed with water, vinegar, lemon juice, wine, or following?

other liquids, salt, and often other flavorings and spices,
to create a paste or sauce ranging in color from bright

yellow to dark brown. The taste of mustard ranges from AL RPAGE pURgeNIavoUs

sweet to spicy. The mustard plant ingredient itself has a B) Curdll(‘as HoI‘Iandaise sauce
sharp, hot, pungent flavor. The many varieties of prepared C) Stabilizes oil and water
mustards have a wide range of strengths and flavors, D) Emulsifies oil

depending on the variety of mustard seed and the
preparation method. The basic taste and "heat" of the

Page1of23
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8) Mustard is most often used at the table as a condiment
on

A) pickles

B) cold meats Te C h OfWO

C) soups
D) mayonnaise

9) Mustard is commonly used to make mustard soup in?

A) Mediterranean

B) Africa

C) Southeastern Europe
D) Northern Belgium

10) Select the correct singular form from the given
options.

There is a red under the charr.

A) books
B) pencils
C) cats
D) bag

JoinUs-' > f
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11) As per Article 124 of the Indian Constitution, every
Judge of the Supreme Court appointed by the President
shall hold office until he attains the age of

A) Sixty-eight years
B) Sixty-five years
C) Sixty years

D) Sixty-two years

11) QIES1E QFRIIGE AG6ge 124 296, QISASH TRl G2
QAERIP FILIPAR YESHR GUITRIIG 6966 Qd 621 LIS BIF
d96Q QEAIGEQ?

A) 2080 9d
B) agal qd
C) s1Cq a8
D) eias ad

12) Sound travels fastest in which of the following
mediums?

A) Air

B) Steel
C) Water
D) Oxygen

12) BEIFIIQ 604 I 69R YT AGOIR §1g 9F GaeIN?

A) Qig
B) @m
C) aa
D) 2g6aa

13) The NIRF is a methodology adopted by the Ministry of
Human Resource Development, Government of India, to

rank institutions of higher education in India. NIRF stands
for

A) National Industrial Ranking Framework
B) National Institutional Ranking Framework
C) National Industrial Ranking Form

D) National Institutional Ranking Form

13) NRIF 010¢ Q9910 918 Age TI8 FRIR0, QIA96R
QoIGYI 29]I9Q Ay Sd FEIQ 9@ 9F |

A) QIQRIR 8RR QIS 6TeIEe
B) quaeia 03.g1901R QIeier 6g¢1¢@
C) QuReim 2932 QST T

D) (YIQQim 9@ SHAa1R QU1 el

14) Who created reforms of The Simla Conference in
1901, the Indian Universities Commission 1902 and the
Indian Universities Act 19047

A) S. K. Kochhar
B) William Bentick
C) D. S. Kothari
D) Lord Curzon

14) Rl @060 1901, adlie gHeds afiaa 1902 1e°
Qd2Ie 4FedF 2IQ 1904 60 @9 QIIQ 2GR ?

A) Q. 62. 6R19Q
B) aamq 6eda
C) 8.:99. 6210101
D) a¢ aee

15) Which of the following goals from the 1968 National
Policy on Education was claimed to be achieved by
National Policy on Education, 19867

A) Raising educational standards and increased access
to education

B) Setting up of a school within a kilometer and adoption
of a common education structure

C) Safeguarding the values of secularism, socialism and
equality

D) Government receiving financial support from the
private sector to complement government funds

Techofworld.In
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15) QPR IRd e Ygeeda, 1986 gl Egl
A6 AR ARD AR IgeRdR, 1968 fuea 2]l &Y
ARAIGE FRIQ 6906 TIAN FAULIRE 69 1T FQl IR YRI?

A) Q2891 Q G IR Ie° 1LIg ALFER IS

B) 9@ fenfioq cuea fuIea Gl ¥e° QRIS S8 Q4eRIq
gJeé @oQ

C) §IGR6ARE! , NIRRT IR° ARSI JRISIR § LRVIFE

D) aeia a6aIa IR Ol 22650a AIRIAY 699

AR BIg JAJAR AES 9& KQQ
i
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Section 3 - Paperl-Reasoning
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16) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

Some soaps are brushes.
Some brushes are pastes.
No paste is shampoo.
Conclusions:

1) No shampoo is brush.
Il) No paste is soap.

IIl) Some brushes are soaps.

A) Only Il and Il follows
B) Only I and Il follows
C) Only lll follows

D) Only | follows

16) FELEILRT: 06 QARSI F199Y 08g 78 Fad FuAIeE |
2987 TR (894 AGY 6QIR AIGAIg 9Fe AGE § el
QRUINEER SR FEMOIQ BiR 6aYIAIRAN | ANS Fadg aeg
4e° QIU6Q F9E Folg, A2INIRYQI FAd AR 6866 ARIREER
€129 PR AAINR AR 183417 OF W6 2QURE GQE |
F18QY: 58 AIQE 6268 99 | 58 92 620& 604 | 6al4d 608 QI
Q6% |

aad:

) 66T Qg 9 9621

1) 66 609 AIGR G6L

Il @8 99 6298 AIYR

A) 6aae 11 9Q° |1l g9 290G |
B) caae 1 9e° 11 21908 @ag |
C) 6aee Il 29208 293 |

D) enae | 299948 @ag

17) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

Some peanuts are almonds.
All almonds are walnuts.
Conclusions:

1) Some peanuts are walnuts.

Il) No almond is peanut.

A) Only Il follows

B) Only | follows

C) None of the conclusions follow
D) Both | and Il follows

17) FeRGIART: 06R FAAIREYR F181Y dag 78 Fed QAL |
2987 GRS ALLY] AT 691 AIFTIY 98: GG T 1Ll
ARIGEIER FEIR SAYOIQ §F 6LHIAREN | AL Fad] 99g
98° QI06Q F98 f2g, GRSl §9d FrIQ 6246 ARINIER
Q€I SR 2QAIGG| @QERI AR OF QIER 2GARE @gE |
(1894 @8 ORIQIRK Qe QK | A8 QM gow 9RaT |

aed:
) @8 OFRITK Q@ ANRT |

1) 6516Q QR TRIRRIA GEL |

A) gaqq Il 2904 99g

B) eaqw | 29904 @08

C) ealed @ Fad] 29908 @ag QI
D) aag | ¥e° Il 2999 9ag

Techofworld.In
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18) Nolan is one among the group of participants in a
running race, who is the 8th fastest and 9th slowest. If all
the participants run with different speeds, then the total
number of participants in the race is

A) 16
B) 15

D) 17

18) 6RIRIG 6268 649 YF6RITIGIES QY 6908 JTeTIGNE
ARIQ §66, NG @EENIEA ARF IQ° UIRSAEA Aa71 | 9T ANg
goeaIg1 @R 956a 6T66S, PEREN 6096 67Ig ghsaIeiw
HY 629

A) 16
B) 15
C) 14
D) 17

19) In a certain coded language, BOOK is called PENCIL,
PENCIL is called STUDENT, STUDENT is called ROOM
and ROOM is called CLASS. The person who writes the
notes of a lecture in the college is called as

A) BOOK

B) PENCIL
C) ROOM

D) STUDENT

19) Y@ HE] AETER ANER, BOOK q qeikimal PENCIL,
PENCILG @@IQimelld STUDENT, STUDENT @ 9219192
ROOM 9g* ROOMY Qalkigeld CLASS | @68 Q43 O9&
QEMFER EMRAR 671C YR Pl @48 QRIIe?

A) BOOK

B) PENCIL
C) ROOM

D) STUDENT

o [ echofworld.In

20) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4 if the question can't be answered at all.

What is the area of the rectangular tennis court?
Statement | : Length of the court is 78 feet.
Statement Il : Two players are playing on the court.
A) 4

B) 3

6)1
D) 2

20) F6R4GIeRT: FIRANS g96a
1 590 098 93 6990 71894 | AIIFIER 40 28 GRS
|

2 §9¢ @0g, 94 6Q9R ARy |l AF6dINER 94a 2aa GaIdiR
aAIQE |

3, 99 eug | 99° || AL6LITER 4a aee AR AIRE |
4, 98 g4Q 299 606% & FRINIR IS QIF |

AVRIRIQ 662 6710Q 6AGTR 60637

1894 | : 6QITR 634 78 g9 62IRaIN |

A3QY || : 6RIT6R G K4 6HRIF 63REF

A) 4

B) 3
C) 1
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Section 4 - Paperl-Teaching Aptitude
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21) Which among the following options is a demerit of

‘Demonstration method of learning'?

A) It helps in arousing the spirit of discovery among
students

B) It accounts for the principles of reflective thinking

C) It is a costly method as expensive materials are
required

D) It leads to permanent learning

21) @ erIQ SRR gIde URGR 9T 69967

A) qg1 Gyginies Au6a 2IRGI08 NI9 98 KEIEa QITIAY
@69

B) 12l gIQ1 geTae QIerIa 815 aIdelg

C) 4 083 6208 NURLR A0d OF ANFIYER 2GR
D) gl glal 2191 81 621R811

22) K-W-L is an instructional three-part strategy to
encourage active reading. Which of the following options
is NOT the part of the KWL chart?

A) 'L' refers to "Which level have | reached"
B) 'W' refers to "What | want to know"

C) 'K refers to "What | know"

D) 'L’ refers to "What | learned"

22) Q&% Q09q QQEC RASl AR 6@-89NR YRl TR
QEIR1E 260 | §q FRT AIQ 6966 6@-89. IR BITR 21°d g6% ?

A) 9R-"¢] 609 20 02°FR'q FoIN
) 99: "¢ @4 @I8iaIg SI6E'g YOI
C) 62 - "¢ @8 KITE'Q P9I
D) 9a- "¢ @4 SgR'Q gord

B

23) The teaching practice of tailoring instruction to meet
individual student needs is known as

A) Kinesthetic Learning Model

B) Inquiry-Based Learning Method
C) Flipped Classroom Model

D) Differentiated Instruction Method

23) QIR SIEFA ARSI § JaI FRR! IR AULYS FELAIR
Q UQIRQI AR _ QIR RENILIREIN|

A) F6aasate a4l T6eR
B) acaiasd ke Sl
C) Gee R1Qge| Feen

D) Gemae ead G

24) Select the programme to which NCTE never notified

the revised Regulations and Norms and Standards in the
year 2014.

A) 3-year Integrated programme leading to B.Ed., M.Ed.
(Integrated) Degree

B) Diploma in elementary education programme through
Open and Distance Leaming System leading to
Diploma in Elementary Education (D.EI.Ed.)

C) Bachelor of education programme 3-year (Part Time)
leading to Bachelor of Education (B.Ed.) degree
D) Diploma in pre-primary education programme through

Distance Learning System leading to Diploma in
Secondary Education (D.SEd.)

Techofworld.In
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24) @2 QIJIGAYES P0e Q9g 60eaIR 9qdea ( NCTE)
2014 adeq Q6ERIG TP, FIGAE IQ° AINQ 26T TS @

“ Techofworld.In

A) @. g ¥Q° A 9] (ANF0) 91 98 *hgQl N-98 AAGe
QIdugea

B) G6qcll 97 MR6A9IR 1g6aaq (6. wmag (D.ELED)) Q&
Q@GS 18 9e° 9Q 31 QIeRIEa GEgiFl aF IN6ALIE
Q6RAR 69I9IF

C) Quisona 2 1g6aaq (8.9 (B.Ed.)) 691 Q8a8291 M
Q8El QUIEERR AT IPERAR(AIT SIRE) 691G L

D) Gedifl af 626a4I01 Yg6aaR (. 9q4e (D.SEd.) 98

@0ejal 9o &l QIeRIsa B5qFl 0] J-gIR6AaT 9geaaq
ool

25) In a classroom environment, which of the following
options is the CORRECT description of the statement,
'Silent cues are less disruptive'?

A) Verbal communication always avoids disruption

B) Saying the words out loud in a class always avoids
disruption

C) Non-verbal messages express feelings and can avoid
disruption

D) Remaining silent in a classroom causes disruption

25) 69411920 IREQE6R, ‘913 AERCAER aF ARISRR 265"
3Q041R §7 Ga8 AR 694G A0 AdqI 268 ?

A) 618 6QI9I6QIG AT AIG NFIR 21

26) Sga d8Iged 1e° TR el 9909l a6 Y f1ad
Q8 866 ?

A
B

) 6R65R1A 6R6RE 99° ToIAIG
) Qe 98 AR

C) giIa18a 9e° ataxel 98

D) zige-dia ¥e° adQIa

27) "Education which will offer the tools whereby one can
live for the divine, for the country, for oneself and for
others and this must be ideal of every school which calls
itself national." This statement was given by

A
B
Cc
D

Jiddu Krishnamurthi
Mahatma Gandhi

Sri Aurobindo

Sarvepalli Radhakrishnan

— o

27) 609 dR1 GG QS GRIR F6Q QITITIRI §661 2T IR,
694 UIR, 5% CIn ¥Q° AR dIn QBAIR 9e° Yeoi® IR

6RFIEE G0 FIF1E 691 923, 6Q9Fe AR AGH 6291 A3
9@ ¢189Y QITITIV IR AR IR |

A) 63 qeq@
B) agicu qist
C) g1 eaae

D) acam aiGes

28) Children learn by looking at older people who they

copy as mentors. This means that they leam by the
method of

B) 68416 651660 90q QPR GQRI QIIQ PR 21
C) 2e6Alge QIell RISGI 9@I8 @RTI6a ¥e° QRIIG IRIR 2

D) 68419260 9091 Q@ QRIR QIRE A) cognitive learning

)
B) sociological learning
C) wishful learning

D) social learning

Techofworld.In

26) The two major factors that control the child's learning
and personality are

A) grandparents and parents
B) peers and society

C) physical and maturity levels
D) hereditary and environment
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28) dRIFIee 98 GRIFIRG 69% 53 6QAFIRg & 627168 F9a
RUEIIQISI NIES 2GARE KRS | ILIQ 2 AR 699 ATVER
a9 ?

A) BIQIOR F94

B) aqigsig goiew dael

C) agrloiea d94

D) airiGa da¢

29) In which of the following agencies of education, do
both the agency and the individual actively participate and
share in the educative process?

A) Home

B) Newspaper
C) Television
D) Films

29) dAIQ Q¢ AGURYER FUQ 69RYCA ARG AFIIR Q°
QIBTEHT AT RIFER FY RGER U°FGRE ¥e° AR KRG ?

A) ge
B) aqieag

30) 671091 @ d99 QR 6 6ITNGI FRIE QU ITIGER
6416 6RR8E | 69R0IEA 64 IR ARIGIR AYEIIFR CANEG
QB QQed | AT TR 6d ARl B /3¢ 8Ig8IgE OIQ

ORI AGIFIE YRGS B 63T 2QACH F8€ AUIBR FRIE
RAAIRES | 64 6RULER AY 2188 ?

A) QIpsg-5e°
B) 6a1ga-G6°
C) qloeq-o6°
D) qliegl-59°

Techofworld.In

C) caibeR TechOfWOﬂd g I N

D) &qa

30) Meghana is attending a teacher training and faculty
development technique whereby she reviews a recording
of a teaching session, in order to get constructive
feedback from peers and/or students about what has

worked and what improvements can be made to her
teaching technique. She is involved in

A) Micro-teaching
B) Major-teaching
C) Minor -teaching
D) Macro-teaching
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Te Ch Of Sec:otlorr‘n'iaa::\elrllr(ima Language

31) FOIRYe Ge8 FIQ 6995 ‘(9" @ AGYLRIST dw g6R ?

A) Qo
B) qaiw
C) aieig
D) 2@esal@

32) PR AUQ TS IRG AR /9 |

A) q@1
B) aga1
C) aigay
D) qig

33) QIRY6a FeaTY SF1 GOE g8 62In G68TE Q6d QILge

6260 SI2Ig Q66TE QRIAN ? AAYS SN IRl YRIAIR
J0¢ @9 |

A) F6899 Q F6534
B) §al 9106 G894
C) ag@ Qloe

D) aq Qe

34) 50Q6Q OFLQI UBQ ASQ! ALY RTSI AR | 69T
406 696 65419 269 ?

A) 21091
B) gat
C) aeaigt
D) aidi

35) QU2 GEFIeFEa QIE! — JOI6R 679 9 62108 ?

A) g

B) agm
C) ogei
D) aga

36) 696 02 65143 QK @ IRIG G6R FITIG K GRIAN ?

37) 609 99 QUQE 9 990 9eIs ANB 28q IR Rd 2Ry
2lel gRI8 R6Q QIIQ & a9 928 ?

A) edlde

)
B) saioge
C) edlae

)

D@@

38) GANGE FUQ 6966 ‘ATARIT @ FAQIS 69 ?

A) g

B) e]

C) Gagak
D) agai@e
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AU AN e R S AR § Lk e LS LR

40) 69 9% QIQE QI 99F goYn 90 21gq 9RK K6 SRy @ 45) AINYS FIG 6966 L U9 Q6T MAYS P F688E ?

A9 gRIAN ?

A) g8
A) eald@ B) 20
B) eciGe C) 2
C)ge D) ag
D) saic9e

41) 400 AYS QAQ @4 gl A ?

Techofworld.In

B) cigi
C) ag
D) il

42) ‘286511 690~ QRoR 22 Q'€ ?

A) g QIFiQl
B) 2@ aIFal
C) eda

D) qugda!

43) GRS AUQ 6RRE ‘A’ I0a FAAS a9 ?
A) Gia

B) gea

C) agom

D) qeiey

44) ‘Q8Rel - Q@5 2d @4 ?

A) 6280 TIRCIR
B) @85 @l

C) qirimall

D) egge= @2l
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Section 6 - Paperll-Mathematics
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48) A square with a side of 8 m has a circle inscribed in it.

48) X 646 q Y 6259 Y9 QUYe QU6Q6 QeIde 6nae 08
The area between the square and the circle is
A
A) 9(4 - ) sqm ) XS YBX#Y
B) 36 sq.m B) Xevax=yY
C) 9-4M1sg.m C)XcyBYcX
D) 36 - M sg.m

D)XcYBX#Y

46) 6 §ioQ AEEY 1@ QTAE AU6R IR 9] RS 62IRE |

49) If each side of a cube is increasesd by 40%, then the
QU6EE NG° 98 A1 6ASTR 6208 percentage increase in its surface area is

A) 9(4 - 1) @4 fga g; ;gg:/”
B) 36 ad figa C) 96%
C) 9- 4N ¢ fea D) 99%
D) 36 - N @d figa

49) 9@ ¥R A9 @ Q6GYR QI 40% AdYs QRQIRAN, 6369

2R AR6TY TGN FERIER 666 9F 62RAI?
47)1f A= {12,357}, B= {1,568}, then A - B equals to
A) 100%
A) {1,23,5,7}
B) {1,5.6.8) B) 88%
C) {237} C) 96%
B)31,5) D) 99%

47) 9@ A={1,23,5,7}, B={1,5,6,8}, 6069 A - B Q115 50) Eight bells commence tolling together and toll at

intervals of 2, 3,4, 5, 6, 8, 10 and 12 seconds respectively.

In 30 minutes, how many times do they toll together?
A) (12357} t X 1ol
B) {1,568} A) 12
C) 23.7) B) 17
D C) 16
) {1.5} D) 15

48) A set X is said to be a proper subset of Y if and only if 50) 210G 98 IRIAITER AR IQ° L2IFEA 2, 3,4, 5, 6, 8, 10

G° 12 6Q6@4 QIRIFEea QG| 30 FGqsa 629G R0
A)XCSYand X#Y 696020 QIF?
B)XcYand X=Y
C)XcYandYcX A) 12
D)XcYand X#Y
S B) 17
C) 16
D) 15
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51) The H.C.F. of two numbers is 13 and the other two

factors of their L.C.M. are 3 and 4. The |larger number of
the two numbers is

A) 39
B) 78
C) 52
D) 104

51) QA% AR 9.Q1.g 13 ¥9e° 6A9eea R.A1.9.Q 25 gdee 3
e 4 | QRT QG FUQ Q2 Al 6268

A) 39
B) 78
C) 52
D) 104

52) Three angles of a triangle are in arithmetic
progression with a common difference of 20 degrees.
Which is the smallest angle?

A) 40 degrees
B) 60 degrees
C) 50 degrees
D) 80 degrees

52) 9pe @ 88 6x18l 20 @91 @ AN 2R AT AFAECR
QeI 6@ 2T AGOIQ 68IC 6918 684G 21662

A) 40 @9
B) 60 &g
C) 50 &q1
D) 80 &g

53) The profit eamed by A is 30% more than that earned
by B. The profits earned by C is 60% more than that

earned by B. Approximately what percent is the profit
earned by C more than that earned by A?

A) 23%
B) 25%
C)31%
D) 32%

53) A ARSIl AILR TFCNS B UIR2Ql QIR QRFIER 30% 2@
C 2102Q RIee A3 B 4IagQl Ao @R216Q 60% 2R AQ
RS GRAIER CA QIR LIQITIA 6RES YGIID 2R?

A) 23%
B) 25%
C) 31%
D) 32%

54)

B

A Cc
In the given figure AM is perpendicular to BC. If ABC=55°,
then Angle MAC in degrees is

A) 65
B) 35
C) 55
D) 45

54)

B

A E
QLR TR AM 6298 BC g8 79] | 98 ABC=55°, 6269
6@18 MAC 9 &g 60697

A) 65
B) 35
C) 55
D) 45
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55) If (4/3)x = 5 > x - 2, then the value of 'x is 57) FARYS FlQ 6066 §Fie A IAIER 1:5,2:3,3:4,5:
6 2ga19a O] 947
A) x=9 TAEA R G
yx=29

C}x>9 A2 i85 F 5185516
D)x<9 TeChOfworld In B)3:4>5:6>2:3>1:5
C)5:6>3:4>2:3>1:5

_ _ D)3:4>2:3>1:5>5:6
55) 9@ (4/3)x -5 > x - 2, 6969 ‘X' Q 74 6298

A) x=

) %=9 58) What is the approximate value of the following
B) x=9 expression?
(16.01)2 + (64.003) x 12

C)x>9
D)x<9 A) 256
B) 352
C) 356
56)Ifa=3,b=-5 x=6,y=12,z=-8, then By(z ~ y) + D) 604
3ab is egual to
A) -93 58) @ OGIRIA 6AISIEAIT FJRY K612
B) 103 (16.01) + V(64.003) x 12
C)93
D) -103 A) 256
B) 352
56) 0@ a=3 b=-5x=6,y=12, z=-8 6068 6y(z +y)+ C) 356
3ab g D) 604
A) -93
B) 103 59) Three friends A, B and C divide a profit of Rs. 2560
among themselves. If Rs. 15, Rs. 20 and Rs. 25 are
C)a3 removed from the shares of the profit of A, B and C
D) -103 respectively, then the shares of the profit they get will
become 5 : 8 : 12 (in ratio). The amount that A receives is
A) Rs. 550
57) Which of the following is the correct sequence of the B) Rs. 475
ratios 1:5,2:3,3:4,5:6 in descending order? C) Rs. 515
A)2:3>3:4>1:5>5: D} Rs. 530

B)3:4>5:6>2:3>1:
Gy orieiging =2 #3313
B33 La =20 o vEE G

(o) &, IS, B o))

Techofworld.In
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59) Gad Qg 9, @ ¥e° d 6Q7IRE (1-I6Q Rs. 25609 9@ AIa
QY @6MI 98 9.6 9e° d @ QIR QG FxQ Rs. 15, Rs. 20 9e°
Rs. 25 QIf Q2IUN 6069 6QlI6e ARSI ARQ |G 2GAIS
Q2IGEE 5 : 8 : 12 Q@91 ¢ AINYS| AR IS 6208

A) Rs. 550

srs | @Chofworld

C) Rs. 515
D) Rs. 530

60) Anil bought two varieties of powders, costing Rs. 5 per
kg and Rs. 6 per kg each, and mixed them in some ratio.
Then he sold the mixture at Rs. 7 per kg, making a profit
of 20 percent. What was the ratio of the mixture?

>

o
N W = M

O

s

RN i

)
)
)
)

O

60) 291N YR YRIAQ UIReq @4n 6% d8l Rs. 5 98° Rs. 6
QA6Q IG° 649Eq 616D QA6 Figél ARl 99° ILITER 6AT
Ageq 6a 92l Rs. 7 62 g @Q 20 gG9e aIe diomil 9@
e 2AqAIS '8l &ml?

A)2:5

. Techofworld.

L) 59
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Section 7 - Paperll-Social Science
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61) Who among the following was an Adivasi leader who

led a Tribal Revolt in Jharkhand against the British?

A) Birju Munda
B) Birsa Munda
C) Birsa Mandi
D) Birju Mandi

61) GARGE AIQ F4 968 AITQIA1 6001 geR, T §4 AlRe
SAYEa CIPHE 60 IR FRFIGIN TEIIT Q 672G 62RYSM?

C) &di q1@
D) &g audl

62) Which among the following classification of resources
is based on its mode of origin?

A) Renewable and Non-renewable resources
B) Conventional and Unconventional resources
C) Biotic and Abiotic resources

D) Recyclable and Non-recyclable resources

62) B2 2kIR AN FIRYS A 694 YRR ARG GRS
QARG ?

A) @104 68194 8 FRIRAE 6L AR
B) aiosicia 6 24aQs1ae aAge

C) 65e 6 Z6Te AR

D) 0g19a¢ 98° 991994 Z6QIS AT@

63) Who among the following was one of the founders of
Poona Sarvajanik Sabha?

A) Rabindranath Tagore

B) Dadabhai Nacroji

C) Mahadev Govind Ranade
D) Debendranth Tagore

63) FIRYS AIQ T4 IRl AR AD Q LAITR 6M?

A) aQ19elel SIETIR

B) aieum QeI

C) a2i699 69130 QIRIEE
D) sasegwid S164Ia

64) Who among the following appoints the Election
Commissioner in India?

A) The Chief Justice
B) President

C) Governor

D) Prime Minister

64) FONYE AUQ Y VIAE 60 FAIPe H9eq § FYB FR?

A) g8ty QU
B) qugad

C) aigyaie

D) quie aa1

65) Who among the following was the chairman of a sub-
committee on Fundamental Rights?

A) J.B. Kripalani

B) Pandit Nehru

C) Rajendra Prasad
D) B.R. Ambedkar

65) GOIAYe AR §Y 671R8 PR PR AT6R ISl IR
QUAAE Q 2B 2em?

A) 68.8. QaIRQT
B) 08¢ eneag

C) queag g8

D) G.aiq. 2legeee
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66) As of January 2019, how many Fundamental Duties

are there in Indian Constitution?

A) 9

C)12
D) 11

66) QEFIE AAI6A RAGIE AAUINER 6R6RIT 6CTIR QaIQY
ag?

A)9

B) 10

C)12

D) 11

67) Which of the following country's model has been
adopted in Indian Constitution to appoint the Governor?

A) France
B) Canada

C) United States of America
D) United Kingdom

67) GRS AUQ 694 699 A FI68R § AIFIAIF FYS KGN TIQ
RS AR 6Q AVCER 6M?

A) g1g

B) QIrigl

C) 9IR659 686 2T 2caaml
D) 9RIn6ee Qe

68) Who among the following kings was known for his
hasty temperement and impatient behaviour?

A) Mohammad -bin-Tughlag
B) Ghiyas-Ud-din Tughlaqg
C) Nasiruddin Shah

D) Firuz Shah Tughlag

Techofworld.In
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68) F671I2 QRIFNRE F2IQ B4 FRQ V5P YAIR 19° 2FQ LT
IR SEIGEI?

A) 029Q -FR60ITRR
B) dalq-2q-69-6019nq
C) odgaq aie

D) &1Qig €I2 601999

69) Which of the following options is also known as
'modern humans' anatomically?

A) Monkeys

B) Homo Habilis
C) Neanderthals
D) Homo Sapiens

69) FIRYS AR 6R6E AS geIer TIsIAIg 200,000 |d g6
ges 621Rdal / SIAYS AU AI9e Q 6 J99IF § "2RIAR
AN QRIIRRI?

A) qiea

B) caieq1 62@RQ

C) goIes gea 99 @ Agay
D) G6eGe AIge QIF

70) Which of the following was a supercontinent found
about 300 million years ago?

A) Gondawana
B) Panthalassa
C) Laurasia
D) Pangea

70) GORYS AUQ 6290 Y@ YUARE6RS SRl AIRE AINIAIY
300 iR od gaea AReRI?

A) GaiaiQl

B) aizqal

C) aasada

D) aearql
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71) In which of the following layers of the atmosphere
does most of the weather phenomena occur?

A) lonosphere

B) Thermosphere
)
)

C) Exosphere
D) Troposphere

71) QIGALAA 6@ IR6A AR FRQIY AGRR QYRR
qgerg ?

A) 219691399
B) aisdidaq
C) wegReq

)

D) gsai@ae

72) Which among the following options is the best
example of a biotic resource?

A) Rocks
B) Livestock
C) Metals

)

D) Precious stones

72) GORGS IR 69 JNINQ AR 659 AR AGFE
QIR 26T ?

A) caq
B) agase

C) uig
D) ag caa

73) Which of the following options are the tools used in
Mesolithic age?

A
B
c
D

Neoliths
Macroliths
Metroliths
Microliths

Techofworld.In

—

73) GORYE QR 12 YIP1R 8 9918 Y2 JEl FIAE AR
QUK QI 6A6ARAR TR VIR FEIARLRI?

A) Geme|

B) quegidiel

C) eacgimel

D) ciegimel

74) What is the name given to the imaginary line which
runs from the north pole to the south pole of the Earth?

A) Latitude
B) Parallels
C) Equator
D) Longitude

74) QORI QEQ6AIQ 8 QRSN QIS ARYSI FIFRR 6331
QI Q€ ?

A) 281r8

B) aaimeqs age
C) Qg% 6asll

D) qidan

75) At which point on the Earth the distance between two
meridians is minimum?

A) Equator

B) Tropic of Capricorn
C) Poles

D) Antarctic circle

75) 92910 606 A96Q Q@G RIDG 6adl AUER GG AR
2697

A) Qge 6adl
B) ceagid
C) 60@

D) e@gen1Q
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Section 8 - Paperll-Science
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76) Which of the following is an example of Gram-positive
bacteria?

78) @ ARIGE 6RITA ZIRIQ FFIQ ARINESS 63E IRRER

¢l @Qlarg?
A) Stenotrophomonas A
B) Escherichia e
C) Streptococcus B) age
D) Salmonella C) aiggq
D) saiq@

76) A9AQ 6298 §iF-0GTa UIERAZIA IR ARITA8?

A) 636016gI6TI6AIRIT zg;gt;l;:h among the following is an example of chemical
B) weaddal

C) sa6qU6aag A) Evaporation of petrol

B) Sublimation of solid ammonium chloride
D) aimeaisan C) Heating of an iron rod to red hot
D) Curdling of milk

77) Strep throat condition in humans is a type of which of
the following infections?

79) BIAUQ 6296 AQIRAR HLRNA IR AILRE?
A) Fungal infection

B) Bacterial infection

C) Protozoan infection B) @0 21671709 6QQIRe0 AFIR6E

D) Viral infection C) ¥e Rl 99q 997 @8 AR *5Eeq
D) g1a 9@ 624

A) 668IR QTIPS 62

77) AASAIRE Ol AID Gl 26dl GIAkIQ 69R gRIaW

LFAIR 9@ RIQ? _ _ o
80) An air bubble of radius 10 m is raising up at a steady
B rate of 2 x 10° m/s through a liquid of density 1.5 x 10°
A) @a@ 656 2°gA¢ kg/m?. The coefficient of viscosity, neglecting the density
o p
B) Quicq@2l ¢80 °gAs of air is(g = 10 m/s?).
C) 696016RITIR 950 A°FEIE A) 285 Sl units
D) @inad @66 Q°gaé B) 167 Sl units
C) 27 Sl units

D) 377 Sl units

78) The size of a typical cell is usually measured in which
of the following units?

A) Poise

B) Numbers
C) Microns
D) Stokes
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80) 107 § QUi T8 IR QI 601691 1.5 x 10°kg/m* @9Q

Q88 2 x 107 §i/6Q §a 21060 @0eq QQF 1 QIgR AIFS! ((g =
10 m/s%)q QIQ 60R AR GEI 629

A) 2854Q2IR G
B) 167 wqaIia 959
C) 27 9qaIa 98]

D) 377 1Q2la 989

81) A block of mass 5 kg is resting on a smooth surface.
At what angle a force of 20 N should act on the body so
that it will acquire a kinetic energy of 40 J after moving 4

m?

A) 45°
B) 30°
C) 120°
D) 60°

81) ¥ AR Q86R 5 67 AeN 1@ 99Kkl 6281 12 AT
6RQ 6RI969 20 NG @f 9620 QAIKS! ARSHR| AFIQI 9L
4859 9 @G99 A6 40 J 96% 98 AIRAT

A) 45°
B) 30°
C) 120°

o | @chofworld.In

82) The increase in length of a wire on stretching is

0.025%. If its Poisson's ratio is 0.4, then the percentage
decrease in diameter is

A) 0.04
B) 0.02
C) 0.01
D) 0.03

Join Us-

82) 66I5: Q10 SIEial TRl 9LIa 6364 0.025% 9 AIReNI
QUG 920 9AGE 29IG 0.4, 6669 QAR TR Jode 62a8

A) 0.04
B) 0.02
C)o.01
D) 0.03

83) Eukaryotes reproduce sexually through a process
known as

A) Fragmentation
B) Parthenogenesis
C) Mitosis

D) Meiosis

83) 9@IA69d 626 93al FIFNER ATES RIS 9eee AaeIN?

A) QI065168d9

B) alcdierisrsada
C) decida

D) saa6da

84) Velocity of water in a river is

A) more in the middle and less near its banks
B) less in the middle and more near its banks
C) increase from one bank to other bank

D) same in middle and its banks

84) Q9164 FRA IAEI

A) A86Q 2R 19° I2IQ §F FRCER @
B) ABsa @6 9a° 1218 §° Fe06a Ay
C) 60151 @@ 120 A YR 9&AI
D) 4gia AF 9e° g@ea Aelie
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85) The process by which the structures of organisms that
were originally shaped by natural selection for some other

function, but are co-opted for a current function, is known
as

A) Arborescent
B) Acculturation
C) Exemption
D) Exaptation

85) 60Q JGQN FIRIFIER FSFIeE A0eR! JIT! A 6a1ad @Ie
091 Ui GIgER A6 F9g AR 6LRURIE, Fg RAIFRRIE
JdIR 3] QARINCLRAIAIE, IRIG @8 QRILIN?

A) zi691G6ae
B) zienesaae
C) wegeag

D) «qeqae

86) What is the mole ratio of hydrogen and oxygen gases
liberated during electrolysis of water?

A) 41
B)1:3
C)21
D)1:2

86) ¥R0 REMER, MAD (T ATLSR) ARSI ANAER QILIQ &S
QIR B RN 671N AQUIG 6R6S?

A) 41
B)1:3
C)2a
D)1:2

87) Hepatitis-C is an infection caused by

A) Fungi
B) Virus
C) Bacteria
D) Protozoa

Join Us-

87) 62aIe1nea-C FIR 62RYR 9D A°GHE] |

A) aeq

B) aiqaq

C) quiexal
D) sqiseiesiall

88) Which among the following options is a modification
of stem or leaves into thread like shape that is used by
climbing plants for support and attachment?

A) Fleshy leaves
B) Tendrils

C) Thalamus

D) Spines

88) AAAUQ 629 FRET QI8 |l JER IR RAIBA LIR! IB! A

AIRIOR 6210 2AGY AL B AIGIPEAL TIE FEIIER MGTIR
9a?

A) arag ag
B) acl

C) airng
D) qa

89) Two trains are moving with equal speed in opposite
directions along two parallel railway tracks. If the wind is
blowing with speed 'u' along the track so that the relative
velocities of the train with respect to the wind are in the
ratio 1: 2 then the speed of each train must be

A) 3u
B) 4u
C) 2u

Techofworld.In
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89) Q@G 697 QAG AFIBQ 6QR UIREIER FAAG Ta6Q AAIR
6R96Q 2IYLE | 9T AR UIAG 69 'U' 6Q0I6Q AR 6KUR 69
3 J9EQ 2I6U/F OA6T 628 1:2 606Q Y6 65aa 696l
6R60 6297

A) 3u

2« | echofworld.

C) 2u
D) u

90) A particle starts from rest and has an acceleration of
2 ms? for 10 s. After that, it travels for 30 seconds with
constant speed and then undergoes a retardation of 4 ms-
2 and comes back to rest. The total distance covered by
the particle is

A) 750 m
B) 800 m
C) 650 m
D) 700 m

90) 6915 RdRI GRIRKIQ GF QAR AR AR 6 10 s AR 2
ms? @ Qa4 AR | 921 T6Q, 92l 30 s JIR FReQ 63968 AR
@ 4 Ms? ARR6Q 9F QAR | 9Q° a8 el § 6 21 |
6Q% RdIRl 660 OO AGFA KOMI?

A) 750 m

~=rTechofworld.Ir

D) 700 m
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Question Paper No: 53574 42
Answer Key

. B 3. B 6l.B
2. 4 22, B 02,0
3. € 33, € 83, €
4. A 34. D 64. B
5. A 35. A 65. A
6. D 36. C 66. D
7. C 37. D 67. B
8. B 38. C 68. A
9. D 39. A 69. D
0. D 40. A 70. D
ne aano | ECH
12. B 42. A 72. B
13. B 43. D 73. D
4. D 44. C 74. D
15. B 45 € 75. 'C
16. C 46. A 76. C
17. B 47. C 77. B
18. A 48. D 78. C
19. C 49. C 79. D
20.. A 50. D 80. B
21, € 3l. € 8l..D
22. A 52. A 824C
23. D 53. A 83. D
24. D 54. C 84. A
25 € B85 L 8§D
26. D 56. A 86. C
27. £ S1. & 87) B
28. D 58. B 88. B
20. A C 89. A
30. A 60. B 90. A

a » f
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